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Feb 19-8:47 AM

Com‘)\eman‘r Rule
PCE): 1 — P(E)
PCE) =1 - PCE)
PCE) + P(E) =1
Civen  P(E)=0.025
) Siad PCE) veduced Svaction.
(05 (EATH) [ESa)erte]
2Y) Siadd P(E) in percent ototiom,
025 (100/)) - 2.57
2) Sind PCE) i decimal,
PE)=1-P(E)-1 - .0>5 -\I73)
in Svaction | in / 1.5/

~40 ’

Sep 30-8:51 AM



September 30, 2024

Coneeder v deck oF cavds
52  Cowdd 5 12 Sace Cavdls |

Drowd one CCW\:‘./

2 3 .
P(FQ(Q)’ 53 ' 'P(Fqce) *HFWC ): 1
S 3 0 13 |
P(Face)‘—%g—l% [N _5

Sep 30-8:59 AM

Key worA OR i P(-H X B)’ P(H) fP(B) —P(A qno\B)‘

Stngle  Ackion  eveal

Soppose. PCA)=.T , PCBY=.4 — P(Aand B)=.2
PAY=1- P(R)-1-1L3)

P(B®)-1-P(8)-1-.4-1.0)

P(A ov B)- PCR) « P(R) —PCACwd B)
¢4 — -2

K Vewn Diogvaw] Toj,/d 4

U e | CAD
o220+ USRS

Sep 30-9:03 AM




September 30, 2024

P(B):1-P(B)=1-.35=65)
F(ROV\\\()Z.C)S——.ZS:-B P(Bon\\{):.35~ 25 = .1
PC BandB ) 1 -P(Rend®)= 1 - 25.[T5)

A= .55 BB orB)
P(®) =39

‘D(H N\A B): 2b
p(T) -1 —P(A)- 1 .55 (:45]

= ’55\"35“‘o25:

R

= B(R) +P(B) - P(Aand B)

L65)

v’
—YO"'“\ = '1

QD)

.35

P( A O,,-B>=1 — P(F\ OFB): 1 _+69 _:

Sep 30-9:11 AM
PCHB) = o4 OPEB) -1 - .4 -9
P(FF) =3 8)P( FF)-1-.3:[)

P( H® and FF)=.2
3)PCHB or FP)-PUHB) v PCEP) — Pt and FP)

ol GL‘ “' 35 - oa L@
YNean  Diosvawt Ww EF

v
m Total=1

5
5) P{ HR ond FF) =4 - PCHB and FE) =1 -,2- (8]

)P W ov FE)=1 —PCHB or FF) =1 -.5-(5)

7) PC HB enly  OR (FF only | wot both)- -2 +.1EJI

Sep 30-9:21 AM



September 30, 2024

Mutvally Exclosive Fvents
" Di%\')o((\*ec\ CvenYs
No ova«\af

P(pi and B) =0 & H—é_B ave M.E.E.
P(A)=u\D , P(B)=.65 , AR owe ME.E,

P(RY -1 1555 P(®) -1—.65 =[.35)

P( R or B) Dvaw Venw leljrawl

_pAY +P(e) —RChondlb) r 7
=5 45 - O -1.8) @a

Total =1

Sep 30-9:34 AM

De Momw\‘s Low
PR and BY:-P(Ror B)

PR ov B)-F( Awd®)|

Co.“?\de the Venn Diagam below

S 5 P(AY =+ 6)
|
A PLA and B)-LH]

Totol = 1 P(A o B)=(T]
P(A or ) Pl Randb )= 1 — 4 =[.6]
B and®)-P( Rors)-1-A:={1]

Sep 30-9:45 AM



September 30, 2024

P(R)-.9
P(®)=.3

P(A erd B) =25

De lYlOfann‘s Low
3)?( A ond B)- RovB

4 P(R ov B) = P( Ronds)- 1 -2 =[-19

) Make Vewn  Dingvam

N B

|9
DP( A ov B>:
pA) 4PcB) —P(AondB):

u% \—o?) _“’2‘5:

-\ — 5 :

B

Sep 30-9:53 AM



